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15P/201/30 (i)
No. of Questions : 150
Wvl S €A : 150

) |
Time : 25 Hours

T 2% go

Full Marks : 450

QU : 450

Note : (1) Attempt as many questions as you can. Each question carries 3
(Three) marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted

question.

HIAFITE 99591 B & FIA B TAS BT | T 999 3 (@)

Hal &1 B §F TA7 I9T # G 0F w wer A
TE FATLT U @ WA G S

(2) If more than one allernative answers scem to be approximate to

the correct answer, choose the closest cne.

afg wmiiees IFfegs 397 8d a1 & Fepe udig &1, a1 Mg

Tol IJ9T o |

01. Genetic industry includes :
(1} Agriculture
(3) Hunting

Ffess It # witafee e &

(1 HY
(3) TSTRIT T

02. Industry creates
(1] Time utility
(3] Place utility

(2)
(4)

(2)
(4)

(2)
(4)

Fishing
Mining

T8l 9HSAT
IGLE

Form utility
Possessicn utility

P.T.O.
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05.

FEPF G HAT 8

(1) |9 IgET (2] &Y I9GHET

(3) & ITARTE (4) e ITGHET
Which of the following is a social objective of business ?

(1) [nnecvation {2) Employment generation
(2) Profit generation (4] Risk management
Fr=fafaa # & =™ =1 QANTS 35299 H-81 8 7
(1) HaTER (2) VST A

(3} <H gad (4) SifEH g9+

. Which of the following statements is true ?

(1} A partnership firm has scparaie legal existence.
(2) A partnership firm is a person in the eye of law.
(3) A partnership firm is a charitable institution. ,
{4) A partnership firm is a profit making organisation.

g #oa=T § § PH-ar g8t & °?

(1) e wH o U Jwfes sTiee e #
(2) aEEry & Fmm #f TE ¥ oF iR R
(3) |EE T o At g5 R

(4) wHE HH ATHSE HA GE G 2

Uncertain span of life is a feature of :

(1) Public company {2} Co-operative enterprise
(3) Sole proprietorship {4) Private company
sty Haw w1 o T ®
(1) HTE=Tte HAE & (2) W=HH I
(3) TFEH @ H (4) el Hg &

4
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08,

15P/201/304i)

A business cannot exist without :

(1} Government (2} Competitor

(3) Customer (4) Bank

Hig o FaEE Aftam & & @ g & R

(1) &R & (2) ufErt &

(3) IEF B 4 ¥% P

Which of the fellowing is mot a feature of partnership ?

(1) Unlimited liability (2) Direct motivation

(3) Mutual agency (4) Utmost goed faith

e & § $r=-ar | o owor odf & ?

(1) oyt =i (2) 9Oy HFaLTon

(3) IRERE AT (4) 907 AgfavEam

Which of the following is mot a feature of company ?

(1) Artificial person (2) Voluntary association

(3] Separate existence (4) Secrecy

FffaT § | H9-97 90 h weroT e & 7

(1) FEm = (2) ufesw d9

{3) 9% Afiam (4)  Trg=Een

The principle 'One-man-one-vote' applies to :

(1) Government Company (2) Public company

(3) Co-operative Enterprise (4) Partnership Firm
5 P.T.O.
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‘o TR T A F THEEG @) Bl B o

(1) gIEmE &9 | (2) ®ESTE F H

(3) deHId ITEH H . (4) QEEE B OH
10. "He owns all and risks all’. This is related to :

(1} Co-aperative society (2) Sole Proprictorship

(3) Active partner (4} Special Partner

“E TR RIS BT @ Sl § o aur S S 3o ¥ 98

=T B o |

(1) el |fffiy | (2) T EiHE §

(3) afpa w@EET # (4) fa9m @EEr 9
11. Which of the following comes under partial consclidation ?

(1) ‘Trust (2} Pool

(3) Cartel (4} Trade association

Fyeafaifiag 8 & PA-T7 Fifas @999 & =TT TR 8 7

(1) == (2] T

(3) HdA C (4 ST dY

12. Service combination is also called :

(1) Diagonal combination {2) Circular combination
(3) Lateral combination (4) Mixed combination
Far GG F HE AT B
(1) e 99 (2) =EHIF HIyAH
(3) ured HI=A (4 WfEm d9a9eE

6
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13.

14,

15.

16.

15P/201/30(i)

A.C.C. is an example of :
(1) Process combinaticn (2) Horizontal combination
(3) Allied combination {4} Vertical combination

. g6 . U IETET &

(1) ufFgr G959 =0 (2) . Afasr Sds= @
(3) "EE HAT F 4) 9 G T
Holding company, first of all, came into existence in :

(1) -USA 2) UK.

[3) Germany (4) France

Tt O weEgem aita F and

(i} ".oq.0.H (2) 9.%. 4

(3) wrH=T # @) wiE #

"Management treatg him the man of workers while workers treat him
the man of management" . It is said for :

(1) Managing Directar (2) Director
(3} Manager (4) Supervisor

g I9 Afiel @ el gumar B oafr afe 99 gmer F@
HEHT AT & 77 UET Her Awr 2o

(1) "o d9@s & & (2) waras & fem

(3) U= & fdo (4) udde & fag

Where the consent of both the parties is given by mistake the contract
is ?

(1) Voud (2] Vahd

(3) Voidable (4) Illegal

7 P.T.0,
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Srq AT qerERr # genia 9@ @ are @ o et wenfy @

(1) 3 | (2) TaEEFg
13} R 4) fEfRmEE
17. In a contract of guarantee, there are :
(1) One Contract (2) Two Contracts
(3] Three Contracts (4] Four Contracts
afersy ot wifer # O ¥
(1) Uer ®feam (2) @ wfaed
(3) o= dfE (4) =TT Higerd

18. A without B's authority Let-cuts his residential bungalow to C.
Afterwords B accepts rent of the bungalow from C. It is an agency

created by !
(1) Holding out (2) Estoppel
(3) Ratification (4) Necessity

ARG ® OTFET DT F AT T H FOS a7 LA B

qEYE 39 €A B [R0ar @ @ 9 W BT S € | 8 AR
gfera fmar war @ -

(1} YL &1 (2) [BEg ara
(3) " AFEHYS EN (4) HAEGIgEHAT &I

19. The principle that no one shall be allowed to enrich himself at the
expense of another in known as :

(1) Quantum Meruit (2) Nudum Pactum

(3) Quasi-Contract (4) Quantum Valebant

e collegedunia:
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E T BB Reat B ot fady THATH
AT 98 8, Heamr & - bl -~

(1) 5= =M So9r =1y - (2) 9freE g
3) WiRAT-sHeq {4} THHET #Hg

A voidable contract is one which ?

(1} Can be enforced at the option of aggrieved party.
(2] Can be enforced art the option of both the parties.
(3) Can not be enforced in a court of Law.

(4] Courts prohibit.

T IR dfaer 92 & S R

(2) ﬁﬁimﬁ%ﬁmwnﬁﬁhaﬁmm%l
(3) =g H maffa &t s w=ft B
(4 e Fa A & o B

In case of void agreements the collateral agreements are ;

(1) Void (2) Voidable

(3) Valid (4) Unenforceable
TH B 3 aWd & 389 gvas qqidas wav -

(1) =3 8a &) (2) SFHONg B ¥
(3) ffim== 2| & (4) STHaEHg B B

(1) Delivery of goods for same purpose.

{2) Return of goods after the purpose i8 accomplished.
(3) Goods must be movable property. .

(4) The owner maintains the control over property.

9 P.T.O,
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23.

24.

ﬁmﬁ%ﬂﬂﬁﬁ?-mmmmﬁw%ﬁﬁﬂﬁm%?
(1) RRE 3239w B o A @ AT

() ITeg QUi BN 9T A g SEE

(3) oiel SR ety T AEd |

14) mﬁwanﬂﬂmw-mﬁmm%

Uniess the Articles provide for a large numlzfer, the quorum for a
general meeting lor a public limited company 1S :

(1) 1/3 of the members

(2) Five members personally present

(3) Two members

(4) Seven members |

o e Fp R ¥ o wEa 1 qEaE T 8, O JEeE
i vt g AT @ m TRt @

(1) @&egl & 1/3 AT

(2) 5 gxEt @ st IR e

(3) 2 HIH:

(4) 7 A_¥H

which one of the following required ordinary resolution 7
(1) To change the name of the company

(2} To alter the articles of assaociation

(3) To reduce the share capital

(4) To declare dividends

Rrefafee § € fras 0 anmer g TEsds & 7
(1) FH B A9m B e & [

(2) @ & awaran § gRada & [
(3) AT 1 AT g2 B e
(4] HOAT @ ArHiy 9ifg 5 & [

10
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26,

27.

15P/201/30ji)

A "statement in lieu of prospectus® must be filed before the allotment
of the shares with the Registrar of Companies by :

(1] A private company
(2) A guarantee com pany
(3) A public company which issues the prospectus to the public

{4) A public company which does not jssue the prospectus tc the
public.

‘O @ gaa o 9" B B F R § ot
W%ﬁw%wm&m%: A %
(1) HEgdE 9=l anT
(2) TEr FAgAT FZT
(3) gmfwwﬁraw&ﬁ%maﬁmﬁmwﬂw

|

(4) %ﬂ%ﬂﬁmﬁrar{'rﬁﬁﬁwqﬁmﬁmmﬂﬁ
> |

Dividend can be declared out of :

(1) Capital Reserve

(2) Revaluation Reserve

{3) Debenture Redemption reserve

(#) Earlier years reserve created out of profits and brought forward

i 9SS Brar ot wear B

{1) g1 d==a & 4

(2) TTeaiss =g ¥ |

(3) =9 eMvH Hug # | .

(4) 9 TH % ArrEt st B e & ot B v den § |

The charler of a company is its :
(1) Articles of Association

(2) Prospectus
(3) Statement in lieu of prospectus
(4)  Memorandum of Association

11 P.T.O.

-
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28.

29.

HoAt & =el &, I9F -

(1) FHE & FatEH

(2) SfagIor 9

(3) ufEETer g3 & "o @ETer 9=
(4) FeAl & e "W SEE

A company may 1ssue shm_-ea :

(1) At discount ' [2) At premium

(3) At par (4) Any of the above
@mﬁmmﬁﬂﬁnﬁﬂﬁfmmﬁﬁm%:

(1) 98 ¢ (2) WfrEw 93

(3) - WX (4) DT ¥ A R 9T Al
Allotment of shares is made by :

(1) Registrar to the 1ssue (2) Share Transfer agent

(3) Board of Directors - (4) Fund Managers

Sigtt = RgEA TRl A T &

(1) Frfma B e (2) FigT I=Aeer sifEEAl &
(3} Fesms H39 & (4} W gEegwl ara

30. The nnmmum number of members in a private company and public

company are .
{1} Three and seven respectively (2} Twao and seven respectively
(3) Two and nine respectively (4) None of the above

o g ST wh qfde FOE a9 & [T sEEt st s e
g4 =nfed -

(1) |9 o ol || (2) mHe: A S '@\
(3) wen: 31 i A (mmﬁﬁﬁéﬂﬁ

12
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15P/201/30(i)

31. Factoring means .
{1} Collecting the receivables and remitting to the seller.
(2) Purchasing and/or administering the recewablcs of a concern
(3) F‘mancmg against bills receivables
{4} Financing invoices without recourse

SFRATET @l Haws ¥

(1} 9T Q& w3 Bbar #1 Sfgen

(2) HET P AT B FT HAT ST HCET TTET HT
B) ¥ Fe % Aew (AwfaT) = yerm s

(4) dorRt & o R (Rsfimm) w1 w29 e

32. Who is the custodian of monetary reserves in India ?

{1) RBI (2) SBI
(3) NABARD (4) 1IFC
o § e Ay B o @ 2 7
(1) a7 & o (2) wq & amg
(3) e (4) % oF &

33. A rate at which banks borrow rupees from the RBI and reduction in it
will help banks to get more money at a cheaper rate :

(1) Liquidity rate (2) Discount rate
(3) Repo rate (4} CRR

ﬁiﬂﬁ?ﬂ@hﬁmﬁaﬂhw%m%aﬂraﬁaﬁﬁ%aﬁr
HEgaT et B %Y 9T s gt gy i

(1) OEEr &% 2} ST X
(3) 9t &% (4) e FNo Ao

13 P.T.O.
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34.

35.

36.

37.

Land Development Bank was started first of all in :

(1) Delln (2) Chennai (3] Mumbai (4) Gurgaon
ﬁmﬁﬁﬂﬂﬁiﬁmﬂﬁfﬁwﬂqﬁaﬁrwgmm?

() st (2) =% (3) T=% (4) T
Whe was First Governor of Reserve Bank of India ?

(1) A.B.A. Smith (2) K.A. Narasimham

(3) V.K, Malhotra (4] A.K Vadia

arra Red &% & ugH TEAT B g7

(1) Todtoto [HH (2) WoUo TfHEN

3) dleFo qEsEAl (4] ToEo AN

EXIM Bank is ewned by :

(1) Financial Institutions

(2) Government of tndia and RBI jeintly

(3) RBI and selected commercial Banks jointly
(4} Fully owned by Government of Indha.

s Frate da & wnEa Tl E

) faeds d@w=nd | | ‘

(2) A qEET SN A o ¥ dJgE ' A

(3) ﬂmﬁuﬁﬁéﬁmaﬁgﬁmaﬁm%ﬁgﬁwﬁ
(4) AT T H U e

The first development financial institution of India was :

(1} 1CICI (2) UT i3} 1FCI (4) 1DBIL
a1 gee By fawiE deen o8 _

{1 A ctitoagotiioando (2) {_{-_oé’(omﬁb

(3) A U oT03MEo (4) aTEoSlodlodEo

14
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38.

39.

40,

41.

15P/201/30(i)

Which of the rate is not determined by RBI ?

(1) Bank Rate (2) PLR (3) SLR {4) CRR
mﬁwﬁﬁé%mﬁ?-mﬁﬁﬁﬁﬁﬁﬁmw%?
(1) 3% FT ' (2) 91 od T

(3] TH U & 4) & 3T oY

Which fiancial body prepared the draft of the IFC 2

(1} World Bank (2) IMF (3) RBI (4) ADB
H-Hl Belg s § od.uw.d 3 avy-ag @t Y e ?
(1) Tasa &= (2) 3TE.0q.0%.

13) Y o and 4) T I

Which of the following bodies are of IMF 2

(1) Managing Director (2) Alternate Governor

[3) Board of Governors (4) Executive Board

= & & 9-d geend smE.on.o. 45 % 7

(1) =1 FM29en (2) T_EIYS TaAHT

(3) NIFHIT BT yusw 14} BRI Tu=d

If all the banks it an economy are nationalised and converted nto a
monopoly bank, the total deposits :

(1) Will be Zero

(2] Will decrease

(3] Will increase

(4) Will neither increase nor decrease

q v wred=aen F aift ¥ wsfiama & d ohv bl Y
# Faw ot g s |
(1) = & srEem (2) =T ST
(3) =g W (4) = &2, F g2

15 P.T.O.
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42. To join IFC a cauntry must first be the member of :
(1) ADB (2) 1BRD (3] IDA (4) IMF

Q‘ﬁ%ﬂﬂaﬂimﬁﬁﬁﬂmﬁﬁ%ﬁﬁ ..... F HEEg BT
arferard 7 -

(1) @ B A (2) JE R AT A
3y 38 3 (4) HE TH TF

43. Which bank has intreduced " Pre-paid card" first ?
(1) OBC (2) Corporation Bank
(3) SBI (4) BOB.
"t{éﬁﬂé*’ﬂaﬁqﬁﬁmhﬁmﬁm?
(1) 3 & (2) RO JF
(3) oF & AR 4) & SN &

44. Which one of the following statements is incorrect ?
(1) The IFC] is the first Universal Bank in India
(2) NSDL is the institute, which is built by IDBI
(3) LIC was founded in 1956
(4) Insurance is the coliective bearing of risk

frey # & S9-0T UF Fo ST & 7

(1) o uh @ HE Wm 7 guw w86 8

@) o o @ o a6 Hen 3, E o € @t o A s @
(3) Sfam & P @t ender 1956 H gAl A€

(4) drmr SfEw F AHReE G8T 3

48. Associate institutions of IBRD are :
{1} IMF and ADB (2) DA

(3) IFC ‘ {4) IDA and IFC

16
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47.
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AE & A I T g YA B
(1) IFcRUuE AT HAH (2) s &g
3) o€ o (4) o & q i 3 o @

The average of three numbers is 135. The largest number is 180 and
the difference of the other two in 25. The smallest number is ;

9 Tt =1 3T 135 B | ga® I 9EAT 180 3T &Y 3] FH AR
25 % BI& qer ®

(1] 130 (2) 125 (3) 120 - (4) 100

The average marks in English subject of a class of 24 students is 56.
If the marks of three students were miss read as 44,45 and 61 of the
actual marks 48,59 and 67 respectively, then what would be the correct
average ?

T HHT T 24 BIEF &1 fHSt Bwm @ e 56 21 afx e st
& Wil ot AT 48,59 Ud 67 @l SITE HHI: 44,45 T 61 &
ger Tar B, @Y g Sdt ofrye == e 7

(1) 356 (2) 57 (3) 58 (4) 39

Which one of the following is correctly matched ?
(1) Data - A collection of abjects
{(2) Mode - A well defined measure

(3) Range - Difference between the largest and the smallest items
af a data set.

{(4) Quartile Deviation - A best measure of dispersion.

17 P.T.O.
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(1) =rer - 3Ig94l H §U8
(2) HIZ- UF =S geE gfeaina Avw

(3) I - uH =TET GYE T NS UF FEAAH B HST ST
(4) =qules REe - $aa @ oF G99 STE8T IUg

49. Population in millions :
City Total Population Male Population

A 12 6.5
B 15 R
C 17 9.0
D 19 9.9
E 22 10.8
What is the average female population in miliion ?
(1} 8.32 (2) 8.23 (3) 8.68 4) B8.86

H 12 6.5

q 15 1 i

q 17 5.0

1 19 9.9

J 22 . 10.8

i Afde SFTEET (or ¥) T d 7

(1) 8.32 2) 8.23 {3] B.68 (4) 8.86
18
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50. Person Salary in T lakhs
A 8.5
B 7.6
C 12.8
D 5.4
E 10.5

What is the difference (in ¥ lakhs) between the average salary and
the lowest salary ¢

(1) 2.65 (2) 4.2 (3) 3.56 (4) 3.65
=ty qo ol ¥ A

3 8.5

q 7.6

q 12.8

A 5.4

q 10.5
wﬁﬁ%%ﬂ(wanﬁ}ww%?
(1) 2.65 2) 4.2 (3) 3.56 {4) 3.65

51. The average marks obtained by Kapil in seven subject are 75. If after
re_evaluation average marks in all the seven subject changed to 82.
How many marks were increased overall ?

Hﬁﬁqﬂﬁiﬁﬁﬁiﬂaﬁ'ﬂﬁGﬁBTS%lﬂﬁgﬁW%mﬂﬂ
Prea 1 olrea o1 Raida epR 82 B ar 81 e Rt & e
fperst 31 =2 |

(1) 57 (2} 55 (3] 51 (4) 49

19 P.T.O.
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52,

63.

The following given the data regarding accidents occurring during a
certain period :
Number of accidents Frequency
19
22
31
9
3
2
On how many days three or less accidents occurred ?
(1) 14 (2) 41 (3) 62 4) 72
O Fiivae sty § afeg gdemr @ srer Rrsitg B -
geeT Y He sgfa -
19
22
31

(5 T4 ; I . &\ T e

The foilowing table given the distribution of students according to
the marks obtained in a paper : .

Marks Number of students

Below 10 15

Below 20 38

Below 30 65

Below 40 84

Below 50 100

What is the number of students getting 30 or more than 30 marks ?
| (1} 35 (2) 43 (3) S0 (4) 184

20
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?'&wﬁﬁmmaﬁmﬁﬂwaﬁwﬁwaw

H® | BEl & HEA

109 %4 13

20 & FH 38

308 FH 65

408 FH 84

509 &9 100

30 1 30 | Afas ofm o= T BrEl B e 149 Lo
(1) 235 (2) 43 (3) 50 (4) 184

The arithmetic mean and harmonic mean are 64 and 49 respectively.
The geometric mean is :

FHFRIY AT UE BNAE AT B 64 ofIT 49 ¥ ISR
/e WU

(1) 60.0 2) 56.5 (3) 56.0 (4) 55.0

Which of the following is the mathematical property of mean ?
(1) The sum of deviation from mean is zero

(2) It has the maximum sampling stability

(3) Its computation is bas=d on all the observation

(4) [t is simple to understand

e # | B9 g Y ot e (o) ® 7
1) o § P FT AT s &
(2) TE AfymeH wRrest fRerer e @
(3) ¥ uitEst & AT 9T IEST AT HE OAET 8

(4) T8 HHA ¥ e oar 8

21 P.T.O.
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§6. Which of the following is a unit free number ?

(1) Standard deviation (2) Variance

(3) Mean deviation (4) Coefficient of variation
Frfeafaa § 8§ @91 g5 g9 §er & 7

(1) w1k f9Ee= (2) SEIOT

(3) wrea fa=es (4) T[T T gftEse

57. Find the coefficient of vanation, if the sum of squares of the deviation
of 100 observations taken from mean 50 is 2500 :

100 wfdest @& wrer 50 & Reem & @t & A 2500 &, @ ONE
& gftads = s/a w4

(1) 50 (2) 25 (3) 10 (4) 05

88. ¥ = 10, o = 3.5. All the observations increased by S would give the

result :
—mu-asqﬁtmﬁmzﬁsmﬁmmtﬁrm

qﬁrﬂrrrr AT

(1) X =10,c =85 (2} X=10,06=35

(3) % =15,6=35 4 % =15 a0=85
59. The range includes :

(1) 100% of the items (2) 50% of the items

(3) 25% of the items (4) 10% af the items

& 7 ufwida 8

(1) STEdt F 100% (2) FEHAT T 50%

(3] SIEEHt | 25%  (4) HAEEHt | O10%

42
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60. The standard deviation of a set of 50 iten{s i1s 10, Find the standard
deviation if each item is multiplied by 2 :

50 IEEHl B HT B HHS @9dd 10 8| 9 0 aNgeq & 2 §
IO FHE A AHE e B o

(1) 35 (2) 10 (3) 12 (4] 20

61. When the demand curve is rectangular hyperbola, is represents ?
(1) Unit elasticity of demand (2) Perfectly inelastic demand

(3) Perfectly elastic demand (4) Relatively elastic demand
S AOT g% STAATERIT ARaae g #, a7 gar ot §
(1) ¥Hlz ArE=TT HI (2) gofa: AsaEr oG
(3) gola: S J9hT (4) WU F==TC HIT
62. Cobweb theorem is an example aof :
(1} Static equilibrium {2) Partial equilibrium
{3) General equilibrium (4) Dynamic equilibrium
FHAE HHY IEEIT B
(1) @fers @rg #= (2) S7ifeTs 9y &
(3) @ |/ (4) oafEE |9

63, Marginal utility is equal to :
(1) Total utlity minus average utility
(2) Addition to total utility
(3) Total utility divided by number of units conserved
(4) Total utility plus average utility

23 P.T.O.
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e Iuafer gET At #

(1) FHA-IgAer "gwE e Sugifen

(2) FHH I # ghe

(3) HF IUAFET F IuArT Fi T FEgSTt B dE@r § 9
(4) F[HIF IuGIET TH rEA IEIE

64. Consumer's surplus is highest in the case of :

(1] Necessities (2) Comforts

{3) Luxuries (4) None of the above
IUNTERT @ =T gEifew et ® o

(1) Eeasd: Tagst o (2) WRMIEES FJegsit A
3) Penfeer awgait # (4) Iqgy ¥ F Hg -t

65. When the demand curve is vertical, is represents ?

(1) Perfectly elastic demand (2) Highly elastic demand

(3) Unit elastic demand (4) Perfectly inelastic demand
S AT g% @EI TET &, 8 9% o HET B
(1) gefaar @=aEre | (2) Tafes e "

(3) THE B == AEET SO (4)  Yoiear ddreER |5hT

66. An upword shift of the preduction possibility curve indicates :
(1) Over full employment (2) OQOver production
(3) Economic growth (4) Inflation
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JTEH SHEAT a5F & FHIT @ A LT a9 el

(1) FRgeT Isrme 2) A SEEH
(3) ot fRepm (4) IS
67, The Engel curve for a giffin good is :
(1) Negatively sloped (2) Positively sloped
(3) Horizentally parallel (4) Vertical
s awges & ™ dote am S B
(1) FOTHF ST Il (2) T el el
(3) &y amr F amraT (4) F=ET

68. An indifference curve is :
(1) Concave to the origin (2} Convex to the origin

(3) Vertical (4) Horizontal

O O] O3 BT 8
(1) 97 g & e (2) 79 ey & S=aET
(3) I=A (4) Bfre

69. What the price of an 'inferior good' falls ?
(1) Income effect is negative while substitution effect is positive
(2) Income effect is positive while be substitution effect in negative
(3) Both income and substitution effects are postitive

{4) Both income and substitution effects are negative

25 P.T.O.
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s aep By Soft o awg o Fma fre ® oA
(1) ST TNIE TR ST & Wafh Sfeee gWE geRes i ¥
() ST T SAIEE ST & TS S e Homeish B
(3) oTa de SfEEETIS W A g 8 @
(@) I AT SfEEgE 99E &l Res 8 8

70. Which of the following is the basic assumptions of cardinal utility
appreach ?

{1} Utility is a measurable and quantitiable entity

(2) Marginai utility of money changes with changes in real income

(3) Utility derived from various goods are inter dependence

(4] One cannot use introspective method in judguing the behaviour
of marginal utility.

TS At aT R A e ATl R @ 7

(1) IgdifEr A9 gur 9iEe-g 99 8

(2) "& & W Suhife andfas erg A gfEdl oy
yfiafda &t &

(3) RRFT aegadl | =1 IURMaE s el ©

(4) dmra I9OIET @ smger @ gusm 7 o9 Fhyoes gwmfy
= JUaiT 99 A8 &

71. A market in which differentiated products are sold is termed as ?
(1) Perfect competition (2) Imperfect competition

{?) Monopoliotic competition (4) Oligopoly

o

e collegedunia:

India’s largest Student Review Platform

—



72,

73,

74.

15P/201/30(i)

F IR e efRa awgd a=f ardt & seamdt B
(1) 9of afe=far (2} g gfcrAifET
(3) CQeRIeahITr: SfaaimEr (4) AT

Charging difference price in different markets is cailed -
(1) price discrimination

(2) perfect price discrimination

(3} second degree price discrimination

(4) third degree price discrimination

=1 &l A 1 ma age e ssarar o
(1) =Ha Ry

(2) gof Fima Eadmon

(3) FEda ARt =1 Frya ANEEToT

(4) gdig A H1 BT FAdETor

A demand curve, which is parallel to the horizontal axis (showing
quantity), has price elasticity equal to :

(1) Zero (2) Infinity
(3} Less than one (4) One

*%@,Gﬁﬂﬁaw%aw%(wmﬁﬁ%}ﬂ%%@a

(1) = (2) ST
3) z=E | BN (4) TE

Which of the foliowing is not relevance in case of Sweezi's oligopoly
model ?

(1} A price cut by a firm is followed by the price cut by the rival firm
{2) Price hike is not followed by the rival firms

(3) Firms do not react to price change made by one of the firms

(4) Firms react to all kinds of price changes made by the rival.

27 P.T.O.
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75.

76.

=i 3 oeuitE dfew § frsr § § S=-91 §7a 7l 2 7
(1) o& B arg #ea § FER & afoegdl $H e sTaeEr S
2y a7 sl S afvedl o gZra T ergsET

(3) Bret uer i ErT B TR Sta aftaeh aX et Bt el | e
(4) Sfaeqsdt & g9 g & SHd SRadET 9 B a1 JiERRT 8T

An economic region of production consists of :

(1] The positively sloped portions of all isoquants
{2} The negatively sioped portions of all isoquants
(3) The middle of all isoquants

(4) The highest point of all isoquants

IqEe & AeRE & § |araw B

(1) aF §9-39% g%l  99RHE sad JF
(2) W AH-TIE G B OHOTHE E9d WET
(3] @M FH-IWE g%l § HA GFT

(4) @ A9-IE TR B IT=EOH Y

In case of preofit prior to incorporation the Gross profit is apportioned
between pre-incorporation and post-incorporation periods on the basis
of

(1) Respective sales ratio

(2) Respective purchase ratio

(3) Respective expenses ratio

(4) Respective Return inward and Return outward ratio

AT B 74 5 T AW & A T gHe IR 99y §HiHes
& &t Bre s g fFar Smar & 7

(1) FREra s o
(2) &9 79 H
(3) =99 I A

(4) Pepa aradl ofi w9 argw orgua #

28
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Loss Prior to incorporation Accout is shown under :
(1} Miscellaneous expenditure in profit and loss account
(2) Miscellaneous expenditure on the asset side of the Balance sheet.

(3) Miscellaneous expenditure on the asset side of the Balance sheet
to the extent not written off

(4) Misceilaneous expenditure as in the putnote below the Balance
sheet.

TRfAEE & 98 &t s B s i Rarr smr & 7
(1] «mH-8= @rd ¥ fRfrd =g

(2) il foIed & Hufg ow # Rfdy ==

(3) anfels Fred 3 wufe uet & avofoftym & 9w

4) o s & g o Al B =y ¥ Ramr

[ssue of Bonous shares is regulated under :

(1) Section 81 of the companies Act

(2) According to the provisions of SEBI Guidelines

(3) According to the provissions of Articles of Asscoation

{4) According to the proviscons of Articles of Association and SEBI
Guidelines

g He & v o Prefye e smar B -

(1) o SAfEfFEm & 9 813 oTgHT

(2) O @ Srd Raw AR & oRuEt $ o sgan

(3) umy sifafray ofeast & sEr

(4) urem Saftaw v SEBI Rwn fidywr 3 wifag=t & srmEr

Bonous shares are issued :

(1} Fulifilment of minimum subscription Amount

{2} When securities premium is collected in cash only

{3} When the value of current assets exceed the amount of the capital
(4} When paid up value of shares exceed the market value

29 P.T.Q.
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areeT ofer Frffee 8 € -

(1) =g=ew e afdn i gfd 2g

(2) TR W TS TN FHEST M W

(3) v 9R U F H9 o | SOET e

(4) WK T H FHAT W TR e § G B

80. The final account of company is prepared in accordance with :

(1) Section 210 (2] Section 212

(3) Section 218 (4) Section 220
Fudl & sifem @R B oo & e S S 8 7
(1) 9T 210 (2) T 212

(3) &M 218 (4) &I T 220

81, Window Dressing refers to :
(1) Showing position better than what actually it is
(2) Showing position worse than what actually it is
[3) Showing fictitions assets in the Balance sheet

(4) Providing depreciation by way of deduction from the asset
concerned

frogr 2fHT o defag & 7

(1) arafas Ryl 9 oreft Rafy Rarn

(2) arERE Rufy B e REE

@) e sl B ol R d R

(4) Hefgm Huftd § 9 (Depreciation) 1 FTAT

30
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82. When the divident exceeds 20% of the paid up capital, the amount to

83.

be transferred to reserves shall not be less than -

TGN & 20% § AT arwier % 97 way R B B q 9
Emﬁgﬁamwnﬁtﬂmﬁmﬁmﬁrﬁaaﬁrmﬁmﬁm

(1) 15% (2)  12% 3)  10% (4) 20%

The dividend per share in a company is Rs. 2/- Earning per share i<
Rs. 5/- and the market value of share }s Rs. 25/- what will be the
yeild 2

w@ﬁﬁwﬁmuﬁﬁm:}ﬁ.,nﬁrmrmsa.ﬁm-mﬁfﬁr

AR o8 25 6. 8| IqEFHAr a1 eF P
(1) 20% 2) 12.5%  (3) 8% (4) 25%

At the time of forfeiture of shares, share capital is debited with :
(1) Nominal value of shares

{2) Paidup value of shares

(3) Shares for which can money have already received

(#) Value of shares for which can money have not received

(1) 99 =319 ¥yeq 97

(2) 95 g TR
(3].@#wﬁ?maﬁﬂvﬁrqﬁﬁrﬁﬁ?ﬁﬁé
() UR e B qT aifer i an e gd

31 P.T.O.
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88. Find out the item which is not recorded in profit and loss Appropriation
Account of Company ?

(1) Development Rebate Reserve {2) Staff Gratuity Fund

(3] Dividend equlisation Fund (4) Profit of current year
-] TR HTAT B ATH-EI Appropriation (fFrorT) = # e
e sl ?

(1) aegie gg §98 Y (2) e IS Ay

(3] omwier TN @ (4) ST AT H O

86. State the section which deals with the payment of remuneration to

the Directors of the Company ?
(1) Section 307 (2) Section 309
(3) Section 311 {4) Section 312

M%ﬁiﬁm%mﬁmmaﬁﬁmwﬂ%?
(1) ST 307 (2) ©TIT 309
(3} w1 311 .. {4) 9rw 312

87. The remuneration of the manager in accordence with the provisions

of section 387 of the companies Act 1956 shall not exceed :
(1) 8% of the net profit - (2) 7% of the net profit
(3) 5% of the net profit " (4) 6% of the net profit
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ﬁﬁ%ﬁwmvﬁ%waw%mﬁﬁﬁnﬁmﬁ
T TE @A enfeg ?

(1) = W™ & 8% qirer (2) ='W @ 7% gfyem
(3) = TTH &1 5% i (4) = 9 & 6% gfasa

According to section 205 (2A) of companies Act, is proposed Eiividend
is mare than 12.5% but not more than 15% of the paidup capital
percentage of profit to be transferred to reserves is to be :

(1] 2.5% 2) 5.0% 3) 7.5% (4) 10.0%

maﬁmwms{m%mqﬁmﬁamw
iaﬂﬂmj%ﬁmmﬁraﬁmls%ﬁma’rﬁnﬁﬁmmm
e § gwraia g ?

(1) 2.5 ufaswr (2) 5.0 HfereE

{(3) 7.5 e (4) 10.0 gfergrey

Unclaimed dividend is shown on the liability side of Balance sheet
under the heading :

(1) Reserves and surplus {2} Provisions
(3] Current liabilities (4) Miscellaneous items

(1) s affr dag H (2) mfenst &
(3) Oy T 4) fafee =2

33 P.T.O.
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90. A company bought Assets worth Rs. 3,60,000/- and in lieu issued
debentures of Rs. 100/- each at a discount of 10% . The number of

debentures issued will be :

(1) 3,960 (2) 3,600 (3) 3,000 (4) 4,000

91, If a share capital Rs. 10/~ issued at discount of 10% on which full
amournt has been called up is forfeited for non-payment of final call
Rs. 2/-. The share capital Account should be debited by :

(1) Rs. 8/ () Rs.9/- {3} Rs. 10/ (4) Rs.11/-
10 5. I&T & OFH AN Ionﬁéﬁaﬁﬂwmﬂm%&ﬂw
@ﬂuﬁrﬁﬁﬁmgﬁ%%mﬁﬁﬁmmﬁzﬁ.ﬁrﬁmmw

ﬂmﬁﬂﬂﬂﬁmﬁmmﬁﬁﬂ?ﬁuﬁﬂ%ﬁzm
HT

{1y B8%. 2) 9%. (3) 10%. 4) 11%.

92. Which one of the following in not a method of costing ?
(1} Marginal costing (2) Job costing

{3) Process costing (4) Operating costing

34
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ﬁﬁrﬁﬁﬁwﬁmé@iﬁaﬁq@%aﬁ%?

(1) =T STy (2) Sifg @

(3) wfhar @rT (4) HHET TR
Which one of the following is not a technique of costing ?
{1) Marginal costing (2) Standard tosting
(3) Muitiple costing (4) Absorption costing
Frr & § 99 svm SmisT & gadts w2 7

(1) 9™ s (2) #HFEF @

(3) EEFET &rTE (4) STTIMTT AP

If maximum lead time is 15 days : - :
g : ys and maximum daily con :
materials is 500 units, Re-order level of stock i sumption of

(1) 750 unf'ts (2) 7500 units
(3) 600 units (4) 9000 units

ﬁmmmlsm%mmmmw
GWSOD%TQ%,ET&EEHF{W%EHM: )

(1) 750 Zemrga (2) - 7500 sEEGY
(3} 600 IerEaT (4) 9000 seprEEf

Earnings of the labour =

Hou S M
[{ rs workedxHourly Rate) + 5 (Time Saved) xHourly Rate] in

under: :
(1} Rowar Scheme (2] Halsey -weir scheme
(3] Halsey scheme (4) None of the above

35 P.T.0.
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Waﬁm-(ﬁmxmﬁ]% (g |/9E) x TR

quer %¢) Fre1 &
(1) JaT @A (2) Be® - =9 O
(3) B =W @) Idw & & H

96. Overhead is the sum of :
(1) sDirect material and Direct labour and Direct expenses
(2) Direct cost and Indirect cost
(3) Indirect material and Indirect Labour and Indirect expenses
(4) Standard cost and Marginal cost and Process cost

Rrey # Pra® a1 SUeTd HwEG 8§

(1) qeye WA ST T Aogdr Sf wuE oy

(2) W OF S{UE AT

(3) sToeye TR ofe o Agd) ST e FE
(4) " arE ol e @ S HiEhaT @

97. There are three elements of cost they are :
(1) Direct Material, Direct Labour and Direct expenscs
(2) Indirect Material, Indirect Labour and Indirect Expenses
(3) Material, Labour and Overhead
(4} Material, Labour and Expeses
ara B d aa B ¥, 3 B
(1) weue wrER, Sew Aol AN oW =4
@) FIuas G, W gl afrr T =
3) areh, wergh oft sl
(4) |, wergh i =4

36
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Previous year for the Assessment year 2014-15 is :

T Pt a5 2014-15 1 gy sg7 @ -
(1) 2012-13 (2) 2013-14
(3) 2010-11 (4) 2009-10

Mr. A was present in India during the previous year 2013-14 for 59
days. He was also present in India for 330 days during the preceding
three previous years. For the previous year 2013-14 he is -

(1) Resident and Ordinarily Resident in India

(2) Resident but Not-ordinarily Resident in India
(3) Non-Resident

(4) Non of the above

Fﬁcqnqmizma-mﬁsgﬁ:ﬁ%ﬁmmﬂmﬁﬁlaaﬂq
3 gyt ﬂmsaoﬁﬁ%ﬁqtﬁmrﬁﬁlﬁﬁmls-

&

100. Additional Depreciation is allowed on :

(1) OIld office equipment

(2) New factory Building

(3) All plant and Machineries

(4) New plant and Machineries mean for pr;::uductiun purpose

37 P.T.O.
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s g 3 ® ¢

(1) A wEEy & IR W

2) & HIEGET F{ELA X

3y G @ie gg Al a7

(4) wmﬂmﬁmﬁaﬁaﬁmmmﬁqﬁm

101, Gains from sale of furniture is treated as long-term capital Gains, it

period of holding :
(1) is 45 months (2) is more than 12 months

(3) exceeds 36 months {4) not exceeds 36 months

cﬁﬁﬂr#ftﬂﬁmmﬂaﬁaﬁﬁ%ﬁﬁﬂﬂmmtmﬁaﬁ
@y & emEiy -

(1) 4578 ® (2) 12 HE § T ¥

(3) 36 A& § vl B (4) 36WE A Sgw TE B
102.The alternative to cash basis of Accounting is called ------- basis of

Accountng .

(1) Receipt {(2) Due

(3) Credit (4) Accrual

frps Frafd aase & Rewed B aTTRE A@HT HBT AT

% -

(1) s 2) g

(3) T (4) drgwaA
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103.The -------- i i ! -
i theyr;zzﬁ:s. all daily transactions of a business in the order in -
{1} Ledger (2) Account
(3) Jeurnal (4) Trial Balance
U R E affeT & -t Y, Pra w3 ag e ¥ Rrar
T B
(1) SaEer (2) @raT
(3) ASTHTHET (4) Fege ¥

104, Rlzcnl:'dl_ng the tra_lnsactinns and events as and when they occur and
classifying them into suitable account heading is the subject matter

Of =--neee,
(1) Financial Accounting (2) Book - keeping
(3} Cost Accounting (4] Management Accounting
IR o TeTeH @, v ¥ A ¥ e

, , BT a7 SR
TG HTAT ........ FI g amEh ar B o
(1) fawir eraiss (2) gRTH
{3) TFTT FSHA 4) SE9He AT

108, .Rn:vcnue in generally recognised at the point of sale. Which concept
18 applied ?

{1) Consistency (2) Marketing

(3) Realisation (4) Cost

AR &I AaT GRS s q¥ Bl B -4l AT
g frog g | SH-gt

(1) FraEr (2] fagers

(3] ==t (4} i

39 | P.T.O.
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106. Accenting of a small cal;:h]atur as an expense and not as an asset in

due to --------—- convention,
(1) Materiality (2) Disclosure
(3) Constantly (4) Conservatism
Y TTOTH I HURY B TG HA B T H AHBT oo qR9rel
# ofenia Bpar ST 8
(1) wfEEsT (2) TOSETERETI
13y o (4) Sfeama

107.As per dual aspect concept !
(1) Assets = Liabilities - Captial
{2) Assets + Liabilities = Captial
(3) Assets + Capital = Liabilities
(4) Assets = Capital + Liabilities

e 1 qareen & AT :
(1) waferat = @ - T
(2) wafedt + afte = OoH
(3) wuferdl + ot = iR
(4) dofedl = goft + @fae

108.Cost of goods purchased for resale is an example of :
(1} Defered Revenue Expenditure
(2) Revenue Expenditure

(3) Defered Capital Expenditure
{4y Capital Expenditure

qrte & R e & T A @ A o TF IS X |
(1) «&fd HANH =9

(2) HTH >

13} g e &Y

(4) ST =

40
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109. Rs. 5,000 spent on replacement of worn out part of a machine mill be
charged as :

(1] Defered Capita! Expenditiure
(2) Capital Expenditure

(3) Revenue Expenditure

(4) Defered Revenue Expenditure

we "ol & g Gt & gg@d 9 AT e 5000 6. W oF9.... ..
.. B =g 7 g AT |

(1) w®=FE gofre == (2) U =9

(3) SAFH =Y (4) *ERT AR =g

110. Amount spent on renewal of a licence is :
{1] an asset ‘
(2) a defered revenue expenditure
(3] a revenue expenditure
(4) a capital expenditure

UF ABAT & AR 97 3T #H T 90T 8 o
(1) Th Hafe (2} TH g I =g
(3) TH TTH =4I (4) T T G

111. Which is the accounting concept that requires the practice of credting
closing stock to the trading account ?

(1) Matching (2) Cost
(3) Going concern (4) Realisation

a8 HE-Ht d@imT srureen ¥ s orEr i Tefter # 3R
upae H e B s BT ® 7

(1) gA=H (2) T
(3) TOg =IEIY (4) g

41 P.T.0.
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112. The economic factars causing depreciation are :

(1) Wear and tear (2] Passage of time
(3) Depletion (4} Obsolescence
BIH I~ YA arel ATffE @ie €
(1) TEEmEe (2) HHATEHA
(3) TERIERToT (4) STHRT

113. Accumulated depreciation is an example of :
(1) An expense [2) A contra account
(3} An unrecorded revenue (4) A liabibity
Qehfyer B1H U W_ETT T ... Hl
(1) =™ (2) R e
(3) rffEd ™ (4) I

114. The appropriate method of depreciation to be adopted in case of
livestock is :

(1} Retirement method (2] Depletion method
(3) Appraisal method (4] I[nventory method
G & d99g F By ey & 3fEm Bfao oL A
(1) ®aiwgfa fafg (2) RferTeR7or f@fe

(3) Feafraizor f&fer (4) Hofer g=it @

115. Sales are equal 10 :
(1) Cost of goods sold + Gross profit
{2} Net profit + Cost of goods sald
(3} Caost of goeds sold - Gross profit
{4} Gross profit - cost of goods sold
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fEera svET Sar ®

1) fEEpr awgsit & arm + J6a ars
(2) = dMH + [ gw it #w arE
(3) ol &gl #t o - H%e @y
(4) HHA a9 - R awgstt @t aem

116. Goods given as sample should be credited to -
(I) Purchases Account {2) Sales Account
(3] Purchase Returns Account (4} Advertisement Account

;@%wﬁﬁaﬁaﬁﬁmﬁﬁfzﬁﬁﬁzﬁmmm.mmﬁ
1) =9 (2) faepg
(3] FF aaH (4) T=TaH

117. Which one of the following is correct ?
(1) Gross profit + purchases + sales = Net Profit

(2) Gross profit + Purchases + Administration and other Expenses =
Net Profit

(3) Gross profit - Administration and selling Expenses = Net Profit

(4] Gross Profit + Sales + Administration and other Expenses = Net
Profit

e & & #r-ar ad & 7

(1) @ha @9 + F9 + [@OFT - g @™

(2) §®S T + FE + UAETH UG F TG = I A
(3) WHST TH - AMEHE T [TFT &Y = g A

(4] HFT TH + ORI + GITEE 9F S A9 = E @Y
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118. Royaity Acceunt is :

(1) Personal Account (2) Real Account

(3) Nominal Account (4) P & L Account
ARHIT - 6 Gl ik

(1) SR ST (2) AR &@rar
(3) ATHAR G (4) V-8 T

119. Shortworking Reserve Account Opened in :
(1) Lessor's Books (2) Lessee's Books
(3) Sub Lessee's Books (4) Lessor's and Lessec's Books

A e @ @ A ¥

(1) 9@ #H g |

(2) TERER & FErH H

(3) TU-UZAT H FErH H

(4) OEETRET qUT YEETT # gEwEnt G

120, Shortworking recoverable in futrure is shown in the:
(1) Dr. side of Profit & Loss A/c
{2) Cr. side of Profit & Loss A/c
(3) Cr, side of Trading A/c
(4) Assets side of Balance Sheet

wiye # el 4w agmd ol @ oEwiar s R oo
(1} - @9 & 2T om #
2) @rE-B @ P BiEe 9w A
(3) =UIR® WA F HiEe 9w H

4) F2 & gafa qu &
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121. Nazarana Payment is :
(1) Capital Expenditure
(2) Reveneue Expenditure
(3) Deferred Revenue Expenditure
{4) None of these

AT YT 8
(1) Yofa =™ (2) ST =g
(3) wfra smama =™ 4) FH § HF T

122.Journal Entry made for irrecoverable Shortworkings in the books of
lessee

{1}y P&LA/Jc Dr. /To Shortworkings A/c

(2) Shortworkings A/c Dr./ToP& L Ajc

(3] Landlord's A/c Dr./To shortworkings A/c
(4) Shortworkings A/c Dr./ To Landlord's A/c

TSI i gRTeRl W I agwd @ e gfafts @ef
(1) &Fro-8 @ Folt aged gor |

(2) THHE T FONAH-I @A &

(3) e =1 @rar woft a9 @ar §

{4) YH™E @En Ol qAes a1 gEnt & e |9

123.'The Sale of Goods Act' is mot applicable in :

(1} Cash Purchase System (2) Credit Purchase System
(3) Hire Purchase System (4) Instalment Payment System
‘aeg Rera siftfras sng @t @ B |
(1) - %9 T=fa & (2) I I 9=y |
(3) T g gsfa H (4) FreT W gy #

45 P.T.O.

»
collegedu nia
o - India’s largest Student Review Platform

el



15P/201/30ti)

124. The base of calculation of interest in Hire-purchase System is :
(1) Cash value of the asset
(2) Hire-purchase value of the asset
(31 Market value of the asset '
{4} Residual value of the asset

feperaT T gafa # S # O S SIMTT Bl @
(1) Tfd &1 UHs ged (2) T w1 AT B9 gw
(3) wwfE & I g (4] HYRA F SEAT T

12S8.From which year Hire Purchase Act 1s applicable ?

R &g sfafyaw e a9 § @ & 7
(1) 1932 {2) 1956 3) 1972 (4} 1872

126. In Instalment Payment system the payment ol the geods is done :

{1} Monthly instalment (2) Helf yvearly instalment
(3} Yearly instalment (4} Periodic instalment
fned o gafa # avg § gew @ YA gar @

(1) oOfas Feda o (2) wHIEt [l #

(3) it FEeat (4) wmtEs FRat |

127.Under Instalment Payment System, if the buyer fails to make its
payment, the Vendor can :

(1) Charge Interest (2] Sue the buyer for Payment
(3) Repossess the goods (4) Any of these options

Rt "™ U=l & svwvia, ale &g BaT o7 I B F wgay
wdl &, af et &1 g%ar &

(1) =Aarst a5 agel (2) @ 9T e B frg aren
(3) mRA & g9y g (4) 579 | g R
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128. Will not be included in branch account
(1) Cash Sales
(2] Closing Stock
(3] Goods retuned to the Head Office
(4) Bad Debts

e @rar 8§ giafera A8l 2FT
(1) &g Iy (2) o ey
(3) HET HAEE F Al TG (4)  ALET FOT

129.1n Foreign branch account, the value of which of the following items
is converted inla average exchange rate ?

(1} Building | (2] Machine

[3) Revenue (4) Debenture

st star @t # Fr=feifag # @ g o3 & ofrag [Amg =
# qi¥adiaa fear sEr-8 7

(1) wa+ (2) T9H
(3) I H= (4) T9HA

130.Branch Adjustment Account is in the nature of :

(1) Real Account (2] Nominal Account
(3) Personal Account (4] None of 1.]'1&5{3
MG WU ©Te @ Ggia Bt 8

(1) ardiEs @ B (2) AFETE @i B
(3) =feRrTa @ i 4) =9 q wBE w4l
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131. Goods will spoiled will be shown, while accounting record of dependant
branch in H.O. books in :

(1) Branch Account (2) Branch Debtors Account

(3) Memorandum Stock Account (4) Branch wastage Account

YuT WmETed i gEreht # onide e Tl S|ied F §9d
= BU oI @ REmEr JeEe

(1) emar @mar o (2) 9@ FFET @ H
(3) T =g @ H (4] om@r &g '@ #

]
132.A Branch normally sold goods cost plus33§% . In the year 20i4-15

the branch sold the goods of ¥ 1,50,000. Cost of gocds sold by branch
will be : '

R ITET " A o 33%% T ABHT O ey ol &)

STET 9 9 2014-15 7 ¢ 1,50,000 @ A1 g Begr) sm&r am
el 9= &t s 2Rl

(1) ¥ 1,00,000 (2) T 1,12,500

(3) 275,000 (4) T 1,75,000

133. Balance of Departmental Profit & Loss will be transferred :
(1) In Trading Account
(2) In General Profit & Loss Account
(3) In Balance Sheet

(4) In Profit & Loss and Appropriation Account
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i sra-gfs @rar # 99 H1 sTreer an -
(1) -9 @rar #

(2) ®|H STH-BIH @A #§

(3) Fergay (Rafer-Rrereer) &

@) me-z ShT M= @ &

134, Under which ratio one component is converted in one ?

(1} Profitability Ratio (2] Financial Position Ratio
{3) Activity Ratio (4) Sales Ratio

o orAara o U ST uh o ofifre B osmer § 7

(1) SHITIEAT AP (2) f=ig Rafer s
(3) Fpmmefieen ovquma (4) A saE

135, Return on Investment (R.0.L) in ratic befween --------- :
(1) Net Profit and Capital Employed (2] Sales and Profit
(3) Sales and Capital Employed (4) Assets and Liabilities

fafFEeT oF o ... d F S €
(1} 9= 9 & Bfaafse 3ot 2 Re o @ms
(3) Rt o RfFdfsg Iof (4) TN ud &g

136. Current assets include :
(1) Goodwill (2) Furniture
(3) Debtors and Prepaid expenses (4) Investment
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s gufeal # anafae 8 g
(1) AT (2) T
(3) A= ud gEEH =Y (4} R&faE

137.The term 'Fund' as used in fund flow statement means |

{1} Cash (2) Current Assets

(3) Current liabilities

(4) Current Assets - Current liabilities

Fry-yare BEer $ oarfa 'y’ gies 1 3 g

{1} DS (2) TRl @Il

(3) = S | (4) =g GeaferEl - O e
138. Which of the following is not the source of cash :

(1) Parchase of fixed Assets (2) Funds from Operation

(3] Issue of Debenture (4) Sale of Fixed Assets

Fr=tfafiae § & Uohs &l g Ja8l & 7

(1) =Rt TafaEat w5 Fg (2) A | (PN) 3™
(3) oA W FEEE (4) TRt gegferat &t famt

139. Which of the following is not the application of cash ?
(}) Inecrease in outstanding expenses
(2) Increage-in prepaid expenses
(3) Increase in [Inventory
(4) Increase in Bills Recivabie
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Frefifea 7 @ e &1 ggaa e =d & 7
(1) 31&d =941 ¥ gha (2) gd== =4t #§ gfx
3) A # gie (4) o faa1 § ghe

140. Cash from operation is equal to :
(1} Net profit + Increase in current Assets
(2) Net profit + Decrease in current liabilities
(3] Operating profit + Adjustment of current Assets and current
liabilities :
(4) Current Assets - current liabilities
- | %S F qU97 &6y 8 ¢
(1) &= @MW + 95 g=faar § ghs
(2) = A9 + TG TfAEr F e
(3) U A9 + Oy gkadl od 9 afaEt B gEEeE

4) 9| gufE - T sflyg

141. Operating performance is best measured by the rate of return on :
(1} Sharehelder equity (2) Fixed Assets
(3] Total Assets (4) Current Assets

Harad fasares w1 ad 4= a9 39 vsag =T @ Bsar sar 2
AT .

(1) Heramrfi gwen (2) = sy
(3) W|/T Hwh (4) =g ey
142. A low stock turnover indicates : ,
(1) Overinvestment in stock (2) monopoly situation
(3] Salveney position (4) Fixed Assets position
51 P.T.O,
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us e @ AEd gEE 8
(1) & & ofy R &1 (2) wEieeeR @ Rafa @

(3) «igs R & (4) =R g @ Rty @@
143.Captial employed is equal to : :

(1) Total Assets (2) Total Assets - Total liabilities

(3) Working capital (4) Fixed Assets + working capital

o TR S ST et R

(1} HF TR (2) @H‘Qﬁﬂ-@mﬁw

(3) HrshE IOt (4) I wfer + i gel

144.If the operating ratic is 79%, the net profit ratio will be :

o dueE SO 79% B, @) E T SI9E ERN
(1] 100% 2) 179% (3) 21% (4) 97%

145. Interpretation of financial statement requires :
(1) Analysis and comparison
(2) Simplification and stendardisation
(3) Objectivisation and specification
(4) Moderisation and liberalisation
Faeia Rawer & Rsdwm # snasgeear Sl 8
(1) TRredyor o go=n 2) TR OF T
(3) Sgavas o Afrer (4) STEFTRTRTOT T IR

146.Trend ratios and trend averages are used in ;
(1) Vertical Analysis (2) Horizontal Analysis
(3) Static Analysis (4) Average Analysis
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Tgfe A9 auy Hgfer frea & SERT BT B

(1) TF=aa Rsehaor (2) Sy faesraoT
(3) *Afes fasegor @) rEa Ao
147.When total of sources side is higher than the total of uses side, the
effect 1s :
(1) Profit from operation (2) Increase in working capital

(3) Decrease in working capital [4) No change in working capital

ST @IT & OX% 1 AN qG0T B/ G9F D AT § HATF Sar B, o
A BT & ¢

(1) 9979 | @y

(2) wrEsfe oot & gis

(3) @rdefer Joit & @it

(4) s go § wid afgds =46

148. Debentures of ¥ 10,000 with issued at ¥ 9,000 to public only subscribed
and peid will create :

(1} Inflow of cash T 9,000 (2) Inflow of Cash ¥ 10,000
{3) Out flow of Cash ¥ 1,000 {4} Out flow of cash ¥ 9,000

ST Bl Freifer @ geeem T 10,000 & OGS &l ¥ 9,000 9 Rl
GO B

(1] ¥9,000 T UHS ¢ I8

(2) 7 10,000 & VFT HA=¢ 984

(3) 21,000 =H UHS IJNY IS

(4) 79,000 & TS amw <84

53 P.T.O.

»
collegedu nia
o - India’s largest Student Review Platform

el



15P/201/30(i)

149, [ssue of bonus shares would be :

(1) Sources of cash (2) Uses cf cash

(3) No effect on cash (4) Effect on working capital
T e Pl | b o _

(1) TwE & &@a 2) THwS &l 99T

3) Vehe 9T @i gwg TE (4) FRISTE Gt 9T guE

150, When financial statements for a number of yeras are reviewed and
analysed, the analysis is called :

(1} Internal analysis (2) External analysis
[3} Vertical analysis (4) Horizontal analysis

wa A B facly Reet @ gaifeer g Rredteor R s 2,

(1) wafis [edgo (2} amg Fsswor
(3) sr=aEy faesiae (4) AT sy
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ROUGH WORK
T ®IY
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10.

1.

12.

13.
14.

i & fog Fdwm

(¥ JIA®T & TR JTATOT Y5 QU XA IJGT-0F & T gl o
e Hof- st ame-onye 99 @ §f o)

¥ G e & 10 e % o @ 2w | 16 veem § weit 7w wieg # el e

¥ BT TH 21 QFEa e TR I T 3RS FaA aone we-fries w3 v
TYAUT & gEd e W A

gfrm;;aﬁ v Tfim wivr-ox & s, fon @ S S o gen s O

T .

3T- Ox ST & ey war i ye 3 ot miy s 3 o A &) gET IwT- oy a9 e wmim
HUPT INT-9X &7 W7 JerEmT fer wdnn

YT A q97 SU-UT F HAE TYW FEO-78 W IR 7 Fifer wm w g
FT-u & won g gv 97 & SO Agmwa aiin v o fral e A get &
w;é’r oral- ol srayew w1 oyl Y- AT BT OIS AN §E W T4 I wwr
L / '

o Yo MTo Y¥ YT NIHWH WEGl, FVIYAET WO ¥ 8T WeRT (Wfy wiy §) ww
TWW kv st @e o ux FEAr w} ot F suftetery & st
J

vy affenl & wiY o oRedT &§ Frogw o safine i WY Iww Ay T% gfa
RIGT & TET AT R

w¥- giawT % T srve & ure dwieaw gwv A4 7@ ) mow 1y ¥ detew v & g
Jrowt 3wT-a7 ¥ weR gy & ared AR T gw B Iwr-ox & yuaw g ov AR TR
Fawt & e 9% & T s

Y% XET & IW & [ ¥ 0 § W W T w0 @ F s g6 @ oy w0
T HYE OF g9 F YW WA W IF IR THG T S

ti7 § v g% Wit =y W Sifew 3 wqew T8 o v §1 vy S0 fEEl BT e 3e
791 371 wmed 8, o} WAty ofew & aned 3R it avt owt 5 o oy R T AT
5 5% W

T @ & Y e-qfRE % qeye & s AT I8 aur Se-qR % sitm g
& T4 ' :

TO6T & I F507 M QW 17 Jwe-gw TOT w43 § I &% 3

T T B ¥ R T g § e T @ et e

g #ig arad] wien ® srfaa g & s s 2, @t 9 frvafioey T At
gz A, arft et
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